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< (m) 5.32x<2.7 6.32><3.7 8.0=<2.7 7.8><27 7224
(kg/cm?) 1.65 1.16 0.32 111 1.58 0.83 0.36
(cm) 20 20 25 25 50 50
() ) 75 80 76 79 68 75
(m®) 543 1581 3150 3320 1010 1055
(m®) 252 742 1578 1735 553 624
215 210 2.00 191 1.83 1.69
(kg/m?) 580 740 550 830 620 800 530 685 570 620 310 680
(kg/m*) 520 620 390 740 280 340 430 450 290 360 180 380
(kg/m?) 165 180 110 165 130 180 115 150 140 150 65 160
(kg/m?) 125 155 80 130 50 65 90 110 60 85 40 85
H - 34 41 3.6 45 37 39 37 45 41 42 37 51
- 35 36 39 47 37 40 35 37 39 51 38 50
100
() 89 100 70 100 60 100 70 100 16 100
() 100 40 100 -3 100 -4 100 2 41 7 100
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